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| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark your answer sheet.

1-  Bad weather has the bombers that lack modern night-attack equipment.
1) grasped 2) hampered 3) utilized 4) abated

2-  Jacob was for always arriving late for work, a habit that finally led to his being
fired from work.
1) haphazard 2) infinite 3) innate 4) notorious

3- It would put his career at risk, but that was already in , 80 what had he to lose?
1) jeopardy 2) perspective 3) magnitude 4) neglect

4-  Legal requirements state that working hours must not 42 hours a week.
1) legitimize 2) linger 3) mingle 4) exceed

5-  The student’s essay was empty of errors, indicating that it had been written.
1) painstakingly 2) massively 3) impartially 4) ingenuously

6- The boy was simply a beggar: his bundle of newspapers was a , and we called
him the Newspaper Boy.
1) legend 2) limitation 3) pretext 4) drawback

7-  1do not ever having been to Paris, although my mother says we went there
when I was a child.
1) rehearse 2) recollect 3) recede 4) recast

8-  Because of conditions, the hikers decided to give up trying to climb the
mountain.
1) vague 2) ungainly 3) adverse 4) vigorous

9- I sat watching as the sun reached its and the muezzin began to call the people to
prayers.
1) lucidity 2) triumph 3) spectacle 4) zenith

10- The children were tired and and didn't seem interested in any of the games.
1) sluggish 2) mandatory 3) strict 4) cordial

| Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| each space. Then mark your answer sheet.

A healthy man in his early 60s begins to notice that his memory isn’t (11) . More
and more often, a word will be (12) the tip of his tongue but he just can’t remember
it. He forgets appointments, makes mistakes (13) , and finds that he’s often confused
or (14) about the normal hustle and bustle of life around him. One evening. he
suddenly finds himself (15) in a neighborhood a couple of miles from his house. He
has no idea how he got there.

11- 1) used to being as well 2) as good as it used to be
3) is not so well as it used to be 4) used as well as was it
12- 1) with 2) by 3)on 4) at
13- 1) pays his bills 2) when paying his bills
3) while bills paid 4) to pay the bills he does
14- 1) anxiously 2) anxiety 3) anxious 4) be anxious
15- 1) although walking 2) while he is walking
3) he is walking 4) walking
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

16-

17-

18-

19-

20-

Passage 1:

Scientists disagree about the place of instinct in human behavior. Sociobiologists argue
that even complicated forms of human behavior can have an instinctive basis. They
believe we have an inborn urge to propagate our own genes and those of our biological
relatives. Social customs that enhance the odds of such transmission survive in the form of
kinship bonds. courtship rituals. altruism, taboos against female adultery. and many
aspects of social life. Other social scientists have argued that human behavior can be
explained solely by learning. Psychologists today generally take a middle path. They
acknowledge that human behavior is influenced by our biological heritage. but most doubt
that either imprinting or true instincts occur in human beings.

Which of the following best describes the organization of the passage?
1) Pros and cons of learning are presented.

2) Controversial issues in psychology are presented.

3) Factors affecting human behavior are introduced.

4) Contrasting views on human behavior are discussed.

The word "most" in line 8 refers to -------- .
1) psychologists 2) behaviors 3) instincts 4) humans
According to the passage, sociobiologists believe that --—----- .

1) societies lose their traditions over time

2) human beings are the creatures of their environment

3) nature plays a more important role in shaping behavior than nature

4) there is no scientific explanation for complex forms of our behavior

Which of the following is NOT mentioned as a factor affecting human behavior?
1) instinct 2) social life 3) learning 4) biological heritage
Which of the following statements is NOT true according to the passage?

1) Human behavior is so complex that it has aroused controversies.

2) Most scientists agree that genes determine human behavior.

3) The role of instinct in human behavior is a controversial issue.

4) Social scientists place greater emphasis on the role of environmental factors.

Passage 2:

Evidence now exists that most young children, if given enough opportunities and
encouragement, are able to achieve significant and sustainable levels of academic or sporting
prowess. Bright or creative children are often physically very active at the same time, and so
may receive more parental attention as a result-almost by default—in order to ensure their
safety. They may also talk earlier, and this. in turn. breeds parental interest. This can
sometimes cause problems with other siblings who may feel jealous even though they
themselves may be bright. Their creative talents may be undervalued and so never come to
fruition. Two themes seem to run through famously creative families as a result. The first is
that the parents were able to identify the talents of each child, and nurture and encourage these
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accordingly but in an even-handed manner. Individual differences were encouraged, and
friendly sibling rivalry was not seen as a particular problem. If the father is, say, a famous
actor, there is no undue pressure for his children to follow him onto the boards. but instead
their chosen interests are encouraged. There need not even by any obvious talent in such a
family since there always needs to be someone who sets the family career in motion, as in the
case of the Sheen acting dynasty.

Martin Sheen was the seventh of ten children born to a Spanish immigrant father and an Irish
mother. Despite intense parental disapproval he turned his back on entrance exams to university
and borrowed cash from a local priest to start a fledgling acting career. His acting successes in
films such as Badlands and Apocalypse New made him one of the most highly-regarded actors of
the 1970s. Three sons—Emilio Estevez, Ramon Estevez and Charlie Sheen—have followed him into
the profession as a consequence of being inspired by his motivation and enthusiasm.

21- What does the passage mostly discuss?
1) How clever children learn
2) What families should do to support their children
3) The importance of academic achievement in children’s lives
4) The importance of encouraging children to learn
22- What is the writer’s purpose in the second paragraph?
1) To keep the reader interested in the text
2) To criticize how the Spanish family treated their son
3) To make the main idea of the passage easier to understand
4) To give an example of an idea mentioned in the text

23-The word "'these" in line 9 refers to -------——----- :
1) talents 2) children 3) parents 4) differences
24- According to the passage, in creative families ----------- .

1) parents are consistent in the way they help their children’s learning
2) parents are in charge of children’s learning
3) children receive more parental attention
4) sibling rivalry is encouraged
25- With which of the following statements does the author most probably agree?
1) Parental disapproval often leads to children’s failure.
2) Bright children are often jealous of their siblings” talents.
3) Parents should take into account the fact that children have different needs and interests.
4) Academic success is greatly influenced by the genes we receive from our parents.

Passage 3:

The debate surrounding literacy is one of the most charged in education. On the one
hand there is an army of people convinced that traditional skills of reading and writing are
declining. On the other, a host of progressives protest that literacy is much more
complicated than a simple technical mastery of reading and writing. This second position
is supported by most of the relevant academic work over the past 20 years. These studies
argue that literacy can only be understood in its social and technical context. In
Renaissance England, for example. many more people could read than could write, and
within reading there was a distinction between those who could read print and those who
could manage the more difficult task of reading manuscript. An understanding of these
earlier periods helps us understant today's crisis in literacy debate.
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There does seem to be evidence that there has been an overall decline in some aspects
of reading and writing - you only need to compare the tabloid newspapers of today with
those of 50 years ago to see a clear decrease in vocabulary and simplification of syntax.
But the picture is not uniform and doesn't readily demonstrate the simple distinction
between literate and illiterate which had been considered adequate since the middle of the
19th century.

What can be the best title for this passage?
1) Literacy: The Past and Future

2) Literacy: A Controversial Issue

3) Twenty Years of Research into Literacy
4) Developing Skills of Reading and Writing

The word "which" in line 15 refers to -------- .
1) picture 2) literacy 3) distinction 4) illiteracy
According to the passage, in the last 20 years ------------— o

1) the definition of literacy has changed

2) the skills of reading and writing have fallen to a low

3) most people who were considered literate are now illiterate

4) research has been conducted on the social and technical aspects of literacy
According to the passage, it is true that ----—-----—-- :

1) the current crisis in literacy's debate has nothing to do with the past

2) literacy means the ability to read difficult manuscripts

3) the distinction between literate and illiterate is simple

4) literacy is a controversial issue

What is the writer’s attitude toward the issue of literacy?

1) Skeptical 2) Realistic 3) Sarcastic 4) Emotional
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